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QUESTION 1

While installing new Cisco cluster switches, you need to download the appropriate RCF to the switch.

In this scenario, which two file transfer protocols would be used? (Choose two.)

A HTTP
B. FTP
C.SCP
D. NFS

Correct Answer: AB

QUESTION 2

Click the Exhibit button.

::> autosuppert show -fields node, from, mail-hosts, transport, to

node mail-hosts from

cl-01-01 mail.labZ.local cl-01-0l1l.lab2Z.local
cl-01-02 mail.lab2.local cl-01-02.1lab2.local

to transport
storage@labl.lccal https
storage@lab2.local smtp

You are receiving AutoSupport e-mail from both controllers, but Active I1Q is showing updates from only node cl-01-02.

Referring to the exhibit, what is a reason why Active 1Q is receiving AutoSupport updates from only node cl-01-027?

A. The service processor is not configured.

B. A firewall rule is blocking the AutoSupport.

C. The mail host is blocking the AutoSupport.

D. The cluster management LIF is down.

Correct Answer: C

QUESTION 3

After an initial setup, you want to create a new data aggregate. The node has thirty-one 4 TB SATA spare disks

assigned. Your customer wants to have two spare disks.

In this scenario, which two settings would you use to reach the maximum capacity and availability? (Choose two.)
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A. -maxraidsize 31
B. -raidtype raid_tec
C. -raidtype raid_dp
D. -maxraidsize 29
Correct Answer: BD

Reference: https://www.reddit.com/r/netapp/comments/cdy02f/ adding_new_disk_shelf_to_existing_paritioned/

QUESTION 4

Which statement regarding a node-management LIF is true?

A. The LIF can be set only on the built-in node-management port - eOM.
B. The LIF must use two switches for redundancy purposes.

C. The LIF can be set up on a dedicated VLAN in the data network.

D. The LIF can be set up on a dedicated VLAN in the cluster network.
Correct Answer: A

Reference: https://library.netapp.com/ecmdocs/ECMP11694143/html/GUID-
EFBAB832-8ABA-44D0-86A3273CB52872B7.html

QUESTION 5

Which NetApp tool should you use to set up an ONTAP 9.5 cluster?
A. Config Advisor

B. System Setup

C. SANTtricity Storage Manager

D. OnCommand System Manager

Correct Answer: A

Reference: http://www.admin-sys.com/IMG/pdf/Config_Advisor_32_Installation_and_Administration_Guide.pdf
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